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1. (a) Write 850 000 in standard form

(a) . . . . . . . . . . . . .

(b) Write 780 in standard form

(b) . . . . . . . . . . . . .

(c) Write 6 420 in standard form

(c) . . . . . . . . . . . . .

(d) Write 590 000 in standard form

(d) . . . . . . . . . . . . .

(e) Write 83 in standard form

(e) . . . . . . . . . . . . .

(f) Write 5 030 in standard form

(f) . . . . . . . . . . . . .

(g) Write 402 in standard form

(g) . . . . . . . . . . . . .

(h) Write 450 000 000 in standard form

(h) . . . . . . . . . . . . .

Answers: a) 8.5× 105 b) 7.8× 102 c) 6.42× 103 d) 5.9× 105 e) 8.3× 101

f) 5.03× 103 g) 4.02× 102 h) 4.5× 108
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